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Part - III
BIOLOGY

(BOTANY AND ZOOLOGY)
Maximum : 60 Scores

Time : 2 Hours
Cool off time : 20 Minutes

Preparatory time : 5 Minutes

FY 26March 2019

General Instructions to Candidates :
l There is a 'Cool off time' of 10 minutes each for Botany and Zoology in

addition to the writing time of 1 hour each. Further there is a '5 minutes'
'Preparatory Time' at the end of the Botany Examination and before the
commencement of the Zoology Examination.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.
l Read the questions carefully before answering.
l Calculations, figures and graphs should be shown in the answer sheet itself.
l Malayalam version of the questions is also provided.
l Give equations wherever necessary.
l Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo SmLŸe]pV̈ OU  yOSvLt^]pV̈ OU 10 o]j]ãV
v}fU "WP¥ KLlV RRaU' DºLp]q]¨OU. WPaLRf SmLŸe] kq}ƒpV̈ OSwxU
yOSvLt^] kq}ƒ fOa°OÐf]jOoOÒV "5  o]j]ãV' fáLRraOÕOW¥
ja¾OÐf]jLp] j¤WOÐfLeV. CT yop¾V S\Lh|°¥¨V D¾qU
IuOfLSjL, oãOçvqOoLp] Bwp v]j]opU ja¾LSjL kLa]Š.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from 1 to 3.

Each carry one score.

1. Choose the CORRECT answer.

A structure seen in bacterial cell

is ...........

a) Nucleus

b) Lysosome

c) Plastid

d) Mesosome

2. Observe the relationship

between the first two terms and

fill in the blank.

a) Mushroom : Agaricus

b) Bread mould : .............

3. Fill in the blank.

Cytokinesis in animal cell takes

place by the appearance of a

........... in the plasma membrane.

1 oOf¤ 3 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. wq]pLp D¾qU f]qR´aO¨OW.

mLWVa}q]p SWLw¾]¤ WLeRÕaOÐ

nLYoLeV:

a) o¡oU

b) RRsSyLSyLU

c) kæLyVã]cV

d) o}SyLSyLU

2. Bh|R¾ qºV kh°¥ fÚ]sOtt

mÌU ojy]sL¨] v]ŸOSkLp nLYU

kPq]Õ]¨OW.

a) WP¦ : AYLq]¨yV

b) RrLŸ] kPÕV : .................

3. v]ŸOSkLp nLYU kPq]Õ]¨OW.

kæLyVoL yVfq¾]¤ ............ qPkRÕaO

ÐfV vu]pLeV ^ÍOSWLw¾]¤

SWLwNhv| v]n^jU ja¨OÐfV.

PART - A

BOTANY

Time : 1 Hour
Maximum : 30 scores                                                                 Cool off time : 10 Minutes

(3 × 1 = 3) (3 × 1 = 3)
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Answer any nine questions

from 4 to 14. Each carries two

scores.

4. Observe the figure given below.

Identify the process

demonstrated in the figure.

Write the role of membrane in
this process.

5. Certain thylakoid pigments are
called accessory pigments.

Name them. Write their

significance.

6. Notice the three simple tissues
given below.

a) Sclerenchyma

b) Parenchyma
c) Collenchyma

Identify and write the tissue

that consists of cells that are
thickened at the corners. Write

the function of this tissue.

4 oOf¤ 14  vRqpOtt S\Lh|°t]¤

JRfË]sOU 9 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

4. \OvRa j¤W]p]q]¨OÐ \]NfU

j]q}ƒ]¨OW.

\]Nf¾]¤ Nkf]kLh]\ÿ]q]¨OÐ

NkNW]p JRfÐV f]q]\ÿr]´V

IuOfOW. CT NkNW]pp]¤

yVfq¾]R£ kËV IÍLeV?

5. RRfsS¨LpVc]sOtt \]s

v¡eW°Rt yzLpW v¡eW°¥

IÐO v]t]¨OÐO. AvpORa

SkqOW¥ IuOfOW. AvpORa

NkLiLj|U IuOfOW.

6. \OvRa j¤W]p]q]¨OÐ oPÐV

sZOWsW¥ èÈ]¨OW.

a) yVWæ}r¢RRWo

b) kLq¢RRWo

c) SWLt¢RRWo

oPsWt]¤ WŸ] WPa]p SWLw°¥

S\¡ÐV DºLp Ws JfV? CT

WspORa i¡oU IuOfOW.

(9 × 2 = 18) (9 × 2 = 18)

Sucrose
Solution
Membrane

Water

Sucrose
Solution
Membrane

Water
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7. Write any two differences

between aerobic respiration and

anaerobic respiration.

8. Observe the figure given below.

It shows two phases in the life

cycle of a plant.

Identify the phase marked as A.

Write any two peculiarities of

this stage.

9. Karyokinesis of mitosis is

divided into four stages. Name

the second and third stage.

Write any two features of second

stage.

7. vLpOw~yjvOU AvLpO w~yjvOU

fÚ]sOtt qºV v|f|Ly°¥

IuOfOW.

8. \OvRa j¤W]p]q]¨OÐ \]NfU

j]q}ƒ]¨OW. CfV KqO yy|¾]R£

^}v]f \NW¾]Rs qºV ZŸ°Rt

yP\]Õ]¨OÐO.

A IÐV AapLtRÕaO¾]p ZŸU

JRfÐV f]q]\ÿr]´V IuOfOW. CT

ZŸ¾]R£ qºV yv]SwxfW¥

IuOfOW.

9. NWonUY¾]R£ o¡o v]n^j¾]jV

jLsV ZŸ°¥ DºV. Cf]¤

qºLoR¾pOU oPÐLoR¾pOU

ZŸ°tORa SkRquOfOW. qºLoR¾

ZŸ¾]R£ qºV yv]SwxfW¥

IuOfOW.

A
A



Turn OverK-41 5

FY 26

10. Observe the figure given below.

Identify the parts a, b. Write

their functions.

11. C4 plants have a special leaf

anatomy. Name that anatomy.

Write three peculiarities of this

kind of anatomy.

12. Observe the figure given below.

10. \OvRa j¤W]p]q]¨OÐ \]NfU

j]q}ƒ]¨OW.

a, b IÐ]v f]q]\ÿr]´V IuOfOW.

AvpORa i¡o°¥ IuOfOW.

11. C4 yy|°tORa CspV̈ V yv]Swx

BÍqZajpOºV. C¾qU yv]Sw

x BÍqZajpORa SkRquOfOW.

CT yv]Swx BÍqZajpORa

oPÐV NkSf|WfW¥ IuOfOW.

12. \OvRa j¤W]p]q]¨OÐ \]NfU

j]q}ƒ]¨OW.

CT RWLUkæWVy]R£ SkRquOfOW.

Cf]R£ i¡oU IuOfOW.

Name the complex. Write its

function.

a

b

Outer
side

Inner
mitochondrial

membrane

2H+

Matrix

Outer
side

Inner
mitochondrial

membrane

2H+

Matrix
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13. Observe the elements given

below.

Copper, Phosphorus, Boron,

Magnesium, Potassium,

Manganese, Chlorine

Choose microelements from the

above.

14. Match the items of column A

with B.

13. \OvRa j¤W]p]q]¨OÐ oPsW°¥

j]q}ƒ]¨OW.

SWLÕ¡, SlLyVlryV, SmLSrL¦,

oYVj}x|U, RkLŸLy|U, oLUYj}yV,

SWæLr]¢

Cvp]¤ j]ÐOU yPƒVo oPsW°¥

f]qR´aO¨OW.

14. SWLtU A pOU B pOU S\qOUka]

S\¡¨OW.

A B

a) Reduction i) Formation of oxygen

r]cWVx¢ KLWVy]^R£ D¤kLhjU

b) Photolysis ii) Formation of 3 – PGA

SlLSŸLt]y]yV 3 – PGA pORa D¤kLhjU

c) Photorespiration iii) Formation of PEP

SlLSŸLRryVk]Srx¢ PEP pORa D¤kLhjU

d) Carboxylation iv) Formation of glucose

WL¡SmLWVy]Ssx¢ YæPS¨Ly]R£ D¤kLhjU

v) Formation of phosphoglycolate

SlLyVSlLRRYæS¨LSsã]R£ D¤kLhjU
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15  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

15. RyLtSjy]SppORapOU lLSmy]&

SppORapOU ^j]kOa¾]R£ oPÐV

yv]SwxfW¥ v}fU IuOfOW.

16. yy| vt¡\ÿL j]pNÍe ZaW°¥

yy|°t]¤ v]v]i i¡o°¥

j]¡vz]¨OÐO.

a) Ik]¨¤ ScLo]j¢yV, SmL¥Ÿ]

°V IÐ]vpV¨V WLqeoLp

SzL¡SoLeOWtORa SkRquOfOW.

CT qºV Nkf]nLy°tORapOU

j]¡v\jU IuOfOW.

b) JfV yy|SzL¡SoLe]RjpLeV

Nkf] Y]mr]s]WV By]cV IÐ

Skq]¤ Ar]pRÕaOÐfV?

17. oPÐV yy|°tORa SkqOW¥ \OvRa

j¤W]p]q]¨OÐO.

a) RRrSyLSlLr

b) RmLRRY¢v]sæ

c) kp¡ R\a]

CT yy|°t]¤ WLeRÕaOÐ

qPkLÍq°tORa SkqOW¥ IuOfOW.

AvpORa i¡o°¥ IuOfOW.

(3 × 3 = 9)

Answer any three questions from

15 to 18. Each carries three

scores.

15. Write three peculiarities of

gynoecium seen in solanaceae

and fabaceae.

16. Plant growth regulators perform

various functions in plant body.

a) Name the hormones

responsible for apical

dominance and bolting.

Define the two phenomena.

b) Which plant hormone is

referred to as an antagonist

to gibberellic acid?

17. Names of three plants are given

below.

a) Rhizophora

b) Bougainvillea

c) Pea

Name the modifications seen in

these plants. Write their

functions.

(3 × 3 = 9)
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18. Observe the terms given below.

Xylem, Root hairs, Pith,

Stomata, Cambium, Bulliform

cells

From this, identify and write the

structures seen in epidermal

tissue system. Write their

functions.

(Hint : 3 structures)

18. \OvRa j¤W]p]q]¨OÐ kh°¥

j]q}ƒ]¨OW.

RRysU, oPs SsLo°¥, k]¾V,

By|qjVNiU, WLÒ]pU, mOtt]SlLU

SWLw°¥.

Cf]¤ j]ÐOU IÕ]Rc¡o¤ a]x|O

y]ð¾]¤ WLeRÕaOÐ nLY°¥

f]q]\ÿr]´V IuOfOW. AvpORa

i¡o°¥ IuOfOW.

(yP\j : 3 nLY°¥)
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Answer all questions from 1 to 3.

Each carry one score.

1. Binomial nomenclature was

proposed by .............

2. Tendons and Ligaments are

examples of ............. tissue.

a) Areolar

b) Adipose

c) Dense regular

d) Dense irregular

3. ............ is the most abundant

protein in the animal world.

PART - B

ZOOLOGY

Time : 1 Hour
Maximum : 30 scores                                                                 Cool off time : 10 Minutes

1 oOf¤ 3 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW.  1 yVSWL¡ v}fU.

1. ................. BeV h~]f}p jLoWqe

kÈf] Bv]xVWq]\ÿfV.

2. Ra¢cjOU s]YRo£OWtOU ................

WspV̈ V DhLzqe°tLeV.

a) Areolar

b) Adipose

c) Dense regular

d) Dense irregular

3. ^ÍO SsLW¾V JãvOU Ai]WU

WLeRÕaOÐ oLUy|oLeV .................. .

(3 × 1 = 3)

(3 × 1 = 3)
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4 oOf¤ 14  vRqpOtt S\Lh|°t]¤

JRfË]sOU 9 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

4. ""IsæL Rv¡Ÿ]SNmãOWtOU SWL¡ScãO

WtLeV kSƒ IsæL SWL¡ScãOWtOU

Rv¡Ÿ]SNmãOWtsæ.''  CT NkyVfLvj

SpLaV j]°¥ SpL^]¨OÐOSºL.

yo¡À]¨OW.

5. v]Sv\]¨OW.

6. fLRu fÐ]q]¨OÐ ^}v]pORa \]NfU

j]q}ƒ]¨OW.

a) ^}v]Rp f]q]\ÿr]pOW

b) Cv D¥RÕaOÐ WæLô]R£

SkRquOfOW

c) NkyVfOf WæLô]R£ qºV oOX|

yv]SwxfW¥ IuOfOW.

Answer any nine questions

from 4 to 14. Each carries two

scores.

4. "All vertebrates are chordates

but all chordates are not

vertebrates". Do you agree with

this statement? Substantiate.

5. Distinguish between :

(9 × 2 = 18) (9 × 2 = 18)

a) Tidal volume and Residual volume

b) Vital capacity and Total lung capacity

6. Observe the figure of the

organism given below.

a) Identify the organism.

b) Name the class in which it

belongs.

c) Mention any two salient

features of the class.
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7. a) fLRu fÐ]q]¨OÐvpORa

SkRquOfOW.

b) AÐjLt¾]R£ JfV nLY¾V

Rv\ÿLeV fLRu fÐ]q]¨OÐ

Nkv¡¾jU ja¨OÐfV.

7. a) Name the following :

8. a) 'AB' qWVf NYPÕV Dtt v|WVf]Rp

""yL¡vNf]W y~}W¡¾LvV''

IÐV v]t]¨OÐO. WLqeU

v|WVfoL¨OW.

b) ojOx| qWVf kq|pj v|vòRp

mLi]¨OÐ JRfË]sOU qºV

RRvWs|°¥ IuOfOW.

8. a) Person with 'AB' blood group

is called 'universal

recepient'. Give a reason.

b) List out any two disorders of

human circulatory system.

i)   Trypsin / Chymotrypsin 
Carboxypeptidase

Proteins
Peptones Dipeptides
Proteoses


 →



ii)  PepsinProteins Proteoses Peptones→ +

i) The carbohydrate splitting enzyme present in human saliva.

ii) The anti bacterial enzyme present in human saliva.

b) In which region of the

alimentary canal does the

following reactions occur?



K-41 12

FY 26

9. fLRu fÐ]q]¨OÐ lVStL \L¡ŸV

kP¡¾}Wq]¨OW.

9. Complete the flowchart given

below.

Vertebrata

Division

Agnatha ..........(a)...........

..........(c)...........Pisces

Amphibia

Reptilia

Aves

Mammals

chondrichthyes

..........(d).....................(b)...........

Super class

class
class

class

10. a) Give one word for the
following :

10. a) fLRu fÐ]q]¨OÐvpV¨V Kã

vL¨V IuOfOW.

b) oOWt]¤ Nkf]kLh]\ÿ]q]¨OÐ qºV

sƒe°¥ ojOx|j]Rs JfV

SqLYvOoLp] mÌRÕŸfLeV.

i) Presence of Glucose in Urine

ii) Presence of Ketone bodies in Urine

b) Which human disorder is
having the above mentioned
two symptoms?
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11. Observe the figures given below.

a) Identify figure 'A' and 'B'.
b) Name the subunits of 'A '

and 'B'.

12. Note the relationship in the first
pair and then complete the
second pair.

11. fLRu j¤W]p]q]¨OÐ \]Nf°¥

j]q}ƒ]¨OW.

a) \]NfU A pOU B pOU f]q]\ÿr]pOW.

b) A, B \]Nf°tORa ymV pPe]ãO

WtORa SkRquOfOW.

12. Bh| S^Lc]p]Rs mÌU ojô]sL¨]

qºLoR¾ S^Lc] kP¡¾}Wq]¨OW.

13. fLRu fÐ]q]¨OÐ A, B \]Nf°¥

j]q}ƒ]¨OW.

13. Observe the diagram A and B

given below.

(B)(A)

(B)(A)

a) Insulin; Hypoglycemic hormone : ...................... ; Hyperglycemic hormone

b) Over secretion of Growth hormone; Gigantism: Low secretion of Growth
hormone; ...................

a) A pOU B pOU IÍLeV?

b) oLUy|¾]R£ oãV qºV ZajL

fs°¥ v]whoL¨OW.

a) What is 'A' and 'B'?

b) Mention the other two levels

of protein structure.
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14. fLRu fÐ]q]¨OÐ ^ÍO¨Rt

RRjNa^}jyV oLs]j| v]y¡²j

¾]R£ Aa]òLj¾]¤ fÐ]q]¨OÐ

kŸ]Wp]¤ fqUf]q]¨OW.

14. Classify the following animals

on the basis of the mode of

nitrogenous waste excretion in

the table given below.

15  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

15. KLSqL NYPÕ]¤ j]ÐOU KãpLRj

f]qR´aO¨OW. j]°tORa D¾qU

yLiPWq]¨OW.

Answer any three questions

from 15 to 18. Each carries three

scores.

15. Find the odd one from each

group. Justify your answer.

Mammals, Birds, Bony fishes, Reptiles,

         Terrestrial amphibians, Aquatic amphibians

Ammonotelic Ureotelic Uricotelic

a) Star fish, Devil fish, Dog fish, Jelly fish

b) Flying fish, Angel fish, Saw fish, Fighting fish

c) Sea lily, Sea cucumber, Sea hare, Sea urchin

16. fLRu fÐ]q]¨OÐ v]whLUw°¥

DkSpLY]\ÿV ojOx| fsS\ÿLr]R£

nLY°¥ yP\]Õ]¨OÐ KqO lVStL

\L¡ŸV fáLrL¨OW.

16. Prepare a flow chart showing the

parts of human brain, by using

the details given below.

Cerebrum, Medulla, Mid brain, Thalamus, Pons, Corpora quadrigemina,

Hypothalamus, Forebrain, Cerebellum, Hypothalamus, Hind brain, Brain.

(3 × 3 = 9)
(3 × 3 = 9)
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17. KqO ðLSc¡cV ECG pORa

SqXL\]NfU fLRu fÐ]q]¨OÐO.

17. Diagrammatic representation of

a standard ECG is given below.

a) ECG pORa kP¡¹qPkRouOfOW.

b) P, T fqUY°¥ IÍV

yP\]Õ]¨OÐO.

c) ECG pORa Wæ]j]¨¤ NkLiLj|U

IÍV?

18. SWLtU A Rp SWLtU B pOU C pOoLp]

S\qOUka]S\¡¨OW.

A B C

a) Type of simple Epithelium Location Function

b) Squamous Epithelium ..........(a)......... Diffusion

c)
..........(b).........

Ducts of glands and tubular
..........(c).........

parts of nephrons in kidneys

d) Columnar Epithelium
..........(d).........

Secretion and
Absorption

e)
..........(e).........

Inner surface of bronchioles
..........(f).........

and fallopian tubes

a) Expand ECG.

b) What does the 'P', 'T' waves

denote?

c) Mention the clinical

significance of ECG.

18. Match column 'A' with those in

columns 'B' and 'C'.



K-41 16

FY 26




